03089 HHAMANFHEMHNERE | HENELLIEFNBHHE

7= ik B
ME
M
TRES (LA IS BB 5.8,
N
TRESE(CAb I,
YR ER 1.4305,
Y s \ T4s 1.4034,

' B R P R S

| im*% .
Ml
REEE(, WHANBEE( LR,
THMW
RSEE(, BB OE( LR,
BR

REIEHENEERIRENERERELEF AT HEEN=RNE
Ro BH , BREERNEIRER —RSOHEA THEMNZRANEME
E. WXEZERTEEIHRHILMNENCERS , FARKESKENE
UEE, AARMHEREESRBHIFLE, IRFEEAZIESNE
St , FEERRAEENEMLNS R,

RE :
FRIRGERNIIRSEN , BERLZ2NISEL,
B IR ERMNSE IR AR IEME,

BEER .
S RRE B AN E FRER,

B4
BLEMH I EMRE 03089,

BEET :
BE!: ik HPHE HHIRRS
DE: ik HPifE, THERE

N
N\

© norelem www.norelem.com



03089 HHAMANFHEMHNERE | HENELLIEFNBHHE

B st |
3 i sw2
B oD ' ( ) ( )
— |
N : 0038 3 | '
1 - C
wl & | D4 ~
18 v s
K D34
Cso B :
D.DDMU la—
D1
03089-52105 B | M& | 5 M10x1 21| 8 6 6-0,01/-0,02 435(17|7 15/3 |4 | 5 13 17 5 12
03089-52206 | B | @M%l | 6| M12x1,5 |25| 10 |85 85-0,01-0,03 |51,7|20/8 17|3|5 | 6 | 14 | 19 6 14
03089-52308 B | 8%l | 8| M16x1,5 [33[13,5| 11 11-0,01/-0,03 68 [26(1023|/4 |7 | 8 19 24 15 35
03089-52410 B | ®&l 10| M20x1,5 33| 17 | 11 11-0,01/-0,03 74 (28|12 25/4|9 10| 22 30 15 34
03089502105 | B | &~ |5| M10x1 |21] 8 | 6 6-0,01-0,02 |435|17|7 15/3|4| 5 | 13 | 17 5 12
SN
03089-502206 | B | & |6| M12x1,5 |25| 10 |8,5] 85-0,01/-003 |51,7|20/8 17|3|5| 6 | 14 | 19 6 14
FW
03089-502308 | B | & |8| M16x1,5 |33|135| 11| 11-0,01/-0,03 68 (2610234 |7 | 8 | 19 | 24 15 35
FW
03089-502410 | B | & |10| M20x1,5 |33| 17 | 11| 11-0,01/-0,03 74 |28[1225/4 (9 10| 22 | 30 15 34
FW
03089-54105 D | ®# |5 M10x1 21| 8 6 6-0,01/-0,02 435(17|7 15/3 |4 | 5 13 17 5 12
03089-54206 | D | ®#%l | 6| M12x1,5 |25| 10 |8,5| 85-0,01-0,03 |51,7]20/8 17|3|5 | 6 | 14 | 19 6 14
03089-54308 D | #%l | 8| M16x1,5 |33[13,5] 11 11-0,01/-0,03 68 [26(1023|/4 |7 | 8 19 24 15 35
03089-54410 | D | & |10 M20x1,5 |33| 17 | 11| 11-0,01/-0,03 74 [28[1225/4 (9 10| 22 | 30 15 34
03089-504105 | D | & |5| M10x1 |21] 8 | 6 6-0,01-0,02 |435|17|7 15/3|4 | 5 | 13 | 17 5 12
SN
03089-504206 | D | & |6| M12x1,5 |25| 10 |8,5] 85-0,01/-003 |51,7|20/8 17|3|5| 6 | 14 | 19 6 14
FHW
03089-504308 | D | & |8| M16x1,5 |33|135|11| 11-0,01/-0,03 68 (2610234 |7 | 8 | 19 | 24 15 35
FW
03089-504410 | D | & |10| M20x1,5 |33| 17 | 11| 11-0,01/-0,03 74 (28[1225/4 (9 10| 22 | 30 15 34
FW

© norelem www.norelem.com



